校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON, TONG, KOWLOON, (FVENING SCHOOL), (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
- KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

 (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)
- ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街 152號伊利沙伯中學 1 至 16 室、物理室、化學室及生物室(夜校)(2021/22 學年至 202 5/26 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
ENGLISH COURSE (TOEIC TEST PREPARATORY	COURSE) 1,450.00	-	9/-	13,050.00
TOEIC (ENGLISH, ADVANCED COURSE)	1,550.00	-	7/-	10,850.00
(生交	女日期 With effect fro	m : 01.06.2009)		
EFFECTIVE LISTENING SKILLS	800.00	-	3/-	2,400.00

頁 Page: 1 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)

 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,

 KOWLOON, TONG, KOWLOON, (FVENING SCHOOL), (FROM 6.45 P.M., TO 9.45 P.M., EVERY MONDAY, TO FRIDAY FROM 2021/22
- KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22

 TO 2025/26 SCHOOL YEARS)

 (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)
- ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH, CAUSEWAY BAY, HONG KONG (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202
- 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分) ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY
- FROM 2021/22 TO 2025/26 SCHOOL YEARS)

 (5) 新界元朗教育路 1 2 3號新界郷議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
EFFECTIVE READING SKILLS	800.00	-	3/-	2,400.00
EFFECTIVE SPEAKING SKILLS	800.00	-	3/-	2,400.00
EFFECTIVE WRITING SKILLS	800.00	-	3/-	2,400.00
(生效日期 With effect fr	m : 22.07.2011)		

頁 Page: 2 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- UNITS A & B, 27F. AND UNITS A & B, 77F., LEE MAT BUILDING, 788-790 NATHAN ROAD, NOMBOON (EACLODING FLAT ROOF AT UNITS A & B)
- (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至2025/26學年達星期一至五晚上六時四十五分至晚上九時四十五分)

 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F. JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD.
- ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
TOEIC (ENGLISH, ELEMENTARY COURSE)	3,125.00	-	4/-	12,500.00
(生效	日期 With effect fro	m : 19.07.2012)		
DIPLOMA IN BUSINESS ENGLISH (THE COURSE	E HAS NOT BEEN ACCRE	ITED BY THE HONG	KONG COUNCIL FOR A	CADEMIC
ACCREDITATION)	2,598.00	-	5/-	12,990.00
(生效	日期 With effect fro	m : 15.08.2014)		
ENGLISH FOUNDATION COURSE	800.00	-	6/-	4,800.00
(生效	日期 With effect fro	m : 16.01.2018)		

頁 Page: 3 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)
 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分) ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
- ROOM 102 AT 17F. AND ROOM 204-209, AT 27F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,

 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22

 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)
 - ROOM 201-203、301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街 1 5 2 號伊利沙伯中學 1 至 1 6 室、物理室、化學室及生物室(夜校) (2021/22學年至202

 5/26 學年達星期一至五晚上六時四十五分至晚上九時四十五分)

 DOWN 1 16 DIVISION LADDRATORY CHEMISTRY LADDRATORY & BLOCKY LADDRATORY (NIETN ELIZABETH SCHOOL 152)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
基礎數學與邏輯思維初探	750.00	-	6/-	4,500.00
通識教育增潤課程 PREPARING & ENRICHING LIBERAL STUDIES COL	RSE 600.00	-	2/-	1,200.00
數學增潤課程 PREPARING & ENRICHING MATHEMATICS COURSE	600.00	-	2/-	1,200.00

頁 Page: 4 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B) (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分) ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
- KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校) ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街 152號伊利沙伯中學 1 至 16 室、物理室、化學室及生物室(夜校) (2021/22 學年至 2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路123號新界郷議局元朗區中學3樓309、311-312室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路 2 7 號粉嶺官立中學 4 樓 4 0 2 、 4 0 3 A 、 4 0 3 4 0 7 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
中文口語技巧速效提升課程	500.00	-	4/-	2,000.00
古今文賞析課程	750.00	-	6/-	4,500.00
中文增潤課程 PREPARING & ENRICHING CHINESE LANGUAGE O	OURSE 600.00	-	2/-	1,200.00
PREPARING & ENRICHING ENGLISH COURSE	600.00	-	2/-	1,200.00
(生效日	期 With effect fro	m : 11.04.2018)		

頁 Page: 5 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校)(2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
ELEMENTARY CANTONESE FOR FOREIGN LEARNERS	400.00	-	3/-	1,200.00
探究企業、會計與財務概論 EXPLORING BAFS COURSE	550.00	-	8/-	4,400.00
探究化學 EXPLORING CHEMISTRY COURSE	600.00	-	8/-	4,800.00

頁 Page: 6 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- 10. 2023/20 SCHOOL IEARS)
 (3) 香港銅鑼灣嘉寧徑 1 號何東中學 2 0 1 2 0 3 × 3 0 1 3 0 4 及 4 0 1 4 0 4 室(夜校)
 ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街 1 5 2 號伊利沙伯中學 1 至 1 6 室、物理室、化學室及生物室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2
- 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
 ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152
 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY
 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路123號新界鄉議局元朗區中學3樓309、311-312室(夜校) (2021/22學年至20 25/26學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
探究中國歷史 EXPLORING CHINESE HISTORY COURSE				
	500.00	-	8/-	4,000.00
探究經濟學 EXPLORING ECONOMICS COURSE	550.00		0,4	4 400 00
	550.00	-	8/-	4,400.00
探究地理 EXPLORING GEOGRAPHY COURSE	550.00	-	8/-	4,400.00

頁 Page: 7 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- | ROOF AT UNITS A & B) | (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分) ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD, KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
- KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

 (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)
- ROM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路123號新界鄉議局元朗區中學3樓309、311-312室(夜校) (2021/22學年至20 25/26學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee	每期堂 費 Tong Fai	期數 No. of	課程總收費 Inclusive Fee
	per Instalment	per Instalment	Instalment	per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
探究歷史				
EXPLORING HISTORY COURSE	500.00	-	8/-	4,000.00
探究通識教育				
EXPLORING LIBERAL STUDIES COURSE	550.00	-	8/-	4,400.00
探究旅遊				
EXPLORING TOURISM COURSE	500.00	-	8/-	4,000.00
(生效	日期 With effect fro	m : 20.06.2018)		

頁 Page: 8 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年達星期一至五晚上六時四十五分至晚上九時四十五分)
 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校)(2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
小學功課輔導班	1,000.00	-	4/-	4,000.00
進階小學功課輔導班	1,500.00	-	4/-	6,000.00
中級小學功課輔導班	2,000.00	-	4/-	8,000.00
精進小學功課輔導班	2,500.00	-	4/-	10,000.00

頁 Page: 9 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)

 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,

 KOWLOON, TONG, KOWLOON, (FVENING SCHOOL), (FROM 6.45 P.M., TO 9.45 P.M., EVERY MONDAY, TO FRIDAY FROM 2021/22
- KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22

 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑 1 號何東中學 2 0 1 2 0 3 、 3 0 1 3 0 4 及 4 0 1 4 0 4 室(夜校)

 ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校)(2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費	\$
高級小學功課輔導班	3,000.00	_	Tuition/TongFai 4/-	12,000.00
(生效日	期 With effect fro	m : 01.12.2018)		,
夜英專課程第一級(夜間時段) (適用於利美大原 PROFESSIONAL ENGLISH COURSE LEVEL 1 (EVEN	·	ICABLE TO LEE MAY -	BUILDING PREMISES 9/-	9,000.00
夜英專課程第二級(夜間時段) (適用於利美大康 PROFESSIONAL ENGLISH COURSE LEVEL 2 (EVEN	·	ICABLE TO LEE MAY -	BUILDING PREMISES 5/-) 11,600.00

頁 Page: 10 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT ROOF AT UNITS A & B)
- (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校)(2021/22學年至202

 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別	每期學費	每期堂費	期數	課程總收費
Course / Class	Tuition Fee	Tong Fai	No. of	Inclusive Fee
	per Instalment	per Instalment	Instalment	per Course
	\$	\$	學費/堂費	\$
			Tuition/TongFai	
夜英專課程第三級(夜間時段)(適用於利美	美大廈校址)			
PROFESSIONAL ENGLISH COURSE LEVEL 3 (F	EVENING SECTION) (API	PLICABLE TO LEE MAY	BUILDING PREMISES)
	2,320.00	-	5/-	11,600.00
全状表现你面视,全眼时间 、 ,	- 1.444-11.			
夜英專課程第四級(夜間時段) (適用於利美		.]		
PROFESSIONAL ENGLISH COURSE LEVEL 4 (1		PILICABLE TO LEE MAY		
	3,500.00	-	3/-	10,500.00
中四 (香港中學文憑試)				
S4 (HKDSE)	2 600 00		107	26 000 00
	2,600.00	-	10/-	26,000.00
	1	1	1	

頁 Page: 11 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)

 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,

 KOWLOON, TONG, KOWLOON, (FVENING SCHOOL), (FROM 6.45 P.M., TO 9.45 P.M., EVERY MONDAY, TO FRIDAY FROM 2021/22
- KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22

 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑 1 號何東中學 2 0 1 2 0 3 、 3 0 1 3 0 4 及 4 0 1 4 0 4 室(夜校)

 ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年達星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
中五 (香港中學文憑試)			Turvion, Tongs ur	
S5 (HKDSE)	2,600.00	-	10/-	26,000.00
中六 (香港中學文憑試)				
S6 (HKDSE)	4,150.00	-	5/-	20,750.00
中學中一英文或中文或數學或中國歷史或科學 S1 ENGLISH OR CHINESE OR MATHEMATICS OR			(EVENING SECTION)	(APPI ICARIE TO
QUEEN ELIZABETH SCHOOL PREMISES)	500.00	-	10/-	5,000.00

頁 Page: 12 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室
 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分) ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD, KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee	每期堂費 Tong Fai	期數 No. of	課程總收費 Inclusive Fee
	per Instalment	per Instalment	Instalment	per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
中學中二英文或中文或數學或中國歷史或科學(夜間時段)(適用於	尹利沙伯中學校址)		
S2 ENGLISH OR CHINESE OR MATHEMATICS OR C QUEEN ELIZABETH SCHOOL PREMISES)			(EVENING SECTION)	(APPLICABLE TO
(ULEN ELIZABETH SCHOOL TREMISES)	500.00	-	10/-	5,000.00
中學中三英文或中文或數學或中國歷史或科學(S3 ENGLISH OR CHINESE OR MATHEMATICS OR C QUEEN ELIZABETH SCHOOL PREMISES)			(EVENING SECTION)	(APPLICABLE TO 5,000.00

頁 Page: 13 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT ROOF AT UNITS A & B)
- (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別	每期學費	每期堂費	期數	課程總收費
Course / Class	Tuition Fee	Tong Fai	No. of	Inclusive Fee
	per Instalment	per Instalment	Instalment	per Course
	\$	\$	學費/堂費	\$
			Tuition/TongFai	
中學中四英文或中文或數學或公民及社會或中	】	里 或經濟或會計與財	と との表現では、 との表現では、 との表現では、 との表現では、 との表現では、 との表現では、 との表現では、 との表現では、 との表現では、 とのまれては、 とのまなは、	或旅遊與款待或資 或旅遊與款待或資
訊及通訊科技課程(夜間時段)(適用於伊利沙				
S4 ENGLISH OR CHINESE OR MATHEMATICS OR (I LIAI DEAELOBMENT U	R CHINESE HISTORY	OR HISTORY OR
GEOGRAPHY OR ECONOMICS OR BAFS OR PHYSICS				
SUBJECT) (EVENING SECTION) (APPLICABLE TO			The Hoof The Till o	R TOT (LINCH DOL
SOBJECT) (EVENTING SECTION) (MITERCREEL TO	550.00	-	10/-	5,500.00
	330.00		107	2,200.00
I	ſ	l		

頁 Page: 14 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT ROOF AT UNITS A & B)
- (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別	每期學費	每期堂費	期數	課程總收費
Course / Class	Tuition Fee	Tong Fai	No. of	Inclusive Fee
	per Instalment	per Instalment	Instalment	per Course
	\$	\$	學費/堂費	\$
			Tuition/TongFai	
中學中五英文或中文或數學或公民及社會或中	 	甲式經濟武命計期財	 	动旅游朗卦结武咨
訊及通訊科技課程(夜間時段)(適用於伊利沙		生头紅/月头百日 光州		以
S5 ENGLISH OR CHINESE OR MATHEMATICS OR (TAL DEVELODMENT OF	O CHIMECE HICTORY	OD HICTORY OD
GEOGRAPHY OR ECONOMICS OR BAFS OR PHYSICS			AND HOSPITALITY O	R ICI (EACH DSE
SUBJECT) (EVENING SECTION) (APPLICABLE TO		CHOOL PREMISES)		
	550.00	-	10/-	5,500.00

頁 Page: 15 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT ROOF AT UNITS A & B)
- (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街 152號伊利沙伯中學 1至16室、物理室、化學室及生物室(夜校)(2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別	每期學費	每期堂費	期數	課程總收費
Course / Class	Tuition Fee	Tong Fai	No. of	Inclusive Fee
	per Instalment	per Instalment	Instalment	per Course
	\$	\$	學費/堂費	\$
			Tuition/TongFai	
中學中六英文或中文或數學或公民及社會或中	】	 	 	或旅遊與款待或 資
訊及通訊科技課程(夜間時段)(適用於伊利沙		E-54/12/15/18 11/5/11	10 Temmed 10. Text 10-4-	
S6 ENGLISH OR CHINESE OR MATHEMATICS OR (ITIZENSHIP AND SO			
GEOGRAPHY OR ECONOMICS OR BAFS OR PHYSICS	OR BIOLOGY OR CHI	MISTRY OR TOURISM	AND HOSPITALITY O	R ICT (EACH DSE
SUBJECT) (EVENING SECTION) (APPLICABLE TO	QUEEN ELIZABETH S	CHOOL PREMISES)		
	700.00	-	7/-	4,900.00
(生效日	期 With effect fro	m : 01.09.2022)		
中四 (香港中學文憑試) 夜間時段				
S4 (HKDSE) (EVENING SECTION)				
54 (IIIDSE) (EVENTING SECTION)	1,610.00	_	10/-	16,100.00
	1,010.00		101	10,100.00

頁 Page: 16 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)

 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204−209室(夜校) (2021/22學年至20
- 25/26學年達星期一至五晚上六時四十五分至晚上九時四十五分)
 ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校)

ROOM 201-203, 301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG

- (4) 九龍旺角洗衣街 152號伊利沙伯中學 1 至 16 室、物理室、化學室及生物室(夜校)(2021/22學年至 202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY

 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路 1 2 3 號新界鄉議局元朗區中學 3 樓 3 0 9 、 3 1 1 3 1 2 室(夜校) (2 0 2 1 / 2 2 學年至 2 0 2 5 / 2 6 學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN
 LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年逢星期-至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
中五(香港中學文憑試)夜間時段 S5 (HKDSE) (EVENING SECTION)	1,610.00	-	10/-	16,100.00
中六(香港中學文憑試)夜間時段 S6 (HKDSE) (EVENING SECTION)	2,300.00	-	7/-	16,100.00
中一(夜間時段)(適用於伊利沙伯中學校址) S1 (EVENING SECTION) (APPLICABLE TO QUEEN	ELIZABETH SCHOOL 1,320.00	PREMISES)	10/-	13,200.00

頁 Page: 17 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B) (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204-209室(夜校) (2021/22學年至20
- 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分) ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD, KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- | COLUMN | CAUSTICOL | IEARS | CAUSTICOL | IE

- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5) 新界元朗教育路123號新界郷議局元朗區中學3樓309、311-312室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/2 6學年達星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
中二 (夜間時段) (適用於伊利沙伯中學校址) S2 (EVENING SECTION) (APPLICABLE TO QUEEN	ELIZABETH SCHOOL	PREMISES)		
	1,320.00	-	10/-	13,200.00
中三(夜間時段)(適用於伊利沙伯中學校址) S3 (EVENING SECTION) (APPLICABLE TO QUEEN	ELIZABETH SCHOOL	PREMISES)		
	1,320.00	<u>-</u>	10/-	13,200.00
(生效日	期 With effect fro ***完 END:			

頁 Page: 18 / 19

校名 Name of School 校址 Address of School 香港華德福教育基金會瑪利亞書院

RUDOLF STEINER EDUCATION FOUNDATION HONG KONG MARIA COLLEGE

- (1) 九龍彌敦道788-790號利美大廈二樓A及B室(不包括A及B室平台)及七樓A及B室 UNITS A & B, 2/F. AND UNITS A & B, 7/F.,, LEE MAY BUILDING, 788-790 NATHAN ROAD, KOWLOON (EXCLUDING FLAT
- ROOF AT UNITS A & B)
 (2) 九龍九龍塘牛津道2號B賽馬會官立中學1樓102室及2樓204一209室(夜校) (2021/22學年至2025/26學年逢星期一至五晩上六時四十五分至晚上九時四十五分)
- ROOM 102 AT 1/F. AND ROOM 204-209, AT 2/F., JOCKEY CLUB GOVERNMENT, SECONDARY SCHOOL, 2B OXFORD ROAD,
 KOWLOON TONG, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22
 TO 2025/26 SCHOOL YEARS)
- (3) 香港銅鑼灣嘉寧徑1號何東中學201-203、301-304及401-404室(夜校) ROOM 201-203、301-304 AND 401-404, HOTUNG SECONDARY SCHOOL, 1 KA NING PATH,, CAUSEWAY BAY, HONG KONG
- (4) 九龍旺角洗衣街152號伊利沙伯中學1至16室、物理室、化學室及生物室(夜校) (2021/22學年至202 5/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 1-16, PHYSICAL LABORATORY, CHEMISTRY LABORATORY & BIOLOGY, LABORATORY, QUEEN ELIZABETH SCHOOL, 152

 SAI YEE STREET, MONGKOK, KOWLOON (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY
 FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (5)新界元朗教育路123號新界郷議局元朗區中學3樓309、311-312室(夜校) (2021/22學年至20 25/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 309, 311-312, 3/F., N.T. HEUNG YEE KUK YUEN LONG DISTRICT, SECONDARY SCHOOL, 123 KAU YUK ROAD, YUEN LONG, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (6) 新界將軍澳敬賢里2號將軍澳官立中學2樓201-204及207室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 201-204 AND 207, 2/F., TSEUNG KWAN O GOVERNMENT SECONDARY, SCHOOL, KING YIN LANE, TSEUNG KWAN O, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)
- (7) 新界粉嶺一鳴路27號粉嶺官立中學4樓402、403A、403-407室(夜校) (2021/22學年至2025/26學年逢星期一至五晚上六時四十五分至晚上九時四十五分)
- ROOM 402, 403A, 403-407, 4/F., FANLING GOVERNMENT SECONDARY SCHOOL, 27 YAT MING ROAD, FANLING, NEW TERRITORIES (EVENING SCHOOL) (FROM 6:45 P.M. TO 9:45 P.M. EVERY MONDAY TO FRIDAY FROM 2021/22 TO 2025/26 SCHOOL YEARS)

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用 總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收人學試費用及 註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方 式展示於學校的要衝价質。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月費,以註冊就讀該教育課程。
- 五、 凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式 收據。
- 六、 各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註: 請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

FEES

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.

Note Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

頁 Page: 19 / 19